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1. % "
DR FH (L)

% A

5 g SMAEE SHEERE
FEHE | Bt e | #gak [dEnek
1. B 8,422,693 27.7 8,596,674 27.7 2.1
2. i vl = 5 B 262,300 0.9 260,046 08 A09
3. # F oo % % 4,200 0.0 3,200 00 A 238
4 8 & 2 % % 15,800 0.1 29,500 0.1 86.7
MR EERES XM S 23,400 0.1 20,000 01 A 145
6. A T X2 B X #H £ 91,600 0.3 113,500 0.4 23.9
TH K K OB OB X A £ 1,573,900 5.2 1,820,000 5.9 156
83 L 7 B R A B X H £ 50,600 0.2 63,700 0.2 25.9
SEBHERBEMHES XN S 26,300 0.1 19,700 01 A 251
10 EERUBERERETIRNBRZ £ 587,524 1.9 600,866 1.9 23
M F #H # % & £ 45,600 0.2 80,100 03 75.7
12. vl % 1 B 5,806,000 19.1 5,714,000 185 A 16
BxBERZL2ATERENXTH £ 11,000 0.0 10,700 00 A27
144 A £ R U & # % 98,744 0.3 99,270 03 05
5.6 B B B U F #H 934,120 3.1 813,892 26 A 129
16. = % H & 5,878,528 19.4 5,213,788 168 A 113
17. 38 % H & 2,499,120 8.2 2545234 8.2 1.8
18. &t 3 Iz A 21,222 0.1 21,328 0.1 05
19. & B & 510 0.0 510 0.0 0.0
20. #& A & 2,093,472 6.9 3,318,628 10.7 58.5
21. 42 i & 115,628 0.4 108,441 04 AB2
22. 3% Iz A 365,339 1.2 343,623 1.1 A59
23. M & 1,410,400 46 1,168,300 38 A 172
% A = B 30,338,000 100.0 30,965,000 100.0 2.1

% H

B g SHAEE SH5EE
FEE | Bk FEE | gk |denEk
1. & = & 187,106 0.6 185,116 0.6 A 1.1
2. % 7% & 3,469,084 114 3,672,248 11.9 59
3. B = & 11,193,051 37.0 11,499,186 37.1 2.7
4. = & 2,190,514 7.2 2,222,145 7.2 14
5. % # % 20,111 0.1 25,229 0.1 25.4
6. B N 7K B ES & 312,797 1.0 331,936 1.1 6.1
7.7 T & 435,458 14 490,852 1.6 12.7
8. + PN % 3,937,859 13.0 3,821,215 123 A30
9. ¥ 53] & 221,870 0.7 448,062 14 b=
10. # B & 1,869,672 6.2 1,696,542 b.b A 9.3
11, % = 0] [=] & 2 0.0 2 0.0 0.0
12. 8 & & 2,710,871 8.9 2,705,753 8.7 A 0.2
13. B &8 % 3,784,605 12,5 3,766,714 122 AO05
14 % 1% & 5,000 0.0 100,000 0.3 B
% s} = B 30,338,000 100.0 30,965,000 100.0 2.1
(B RF R A T = B TR (Bfz: FF. %)
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)R FEED)

OERBERER
- SHAEE SHIbEE
FEE | #BH FE%E | #Hk | EEd
1. R & & & B B 1,125,750 16.3 1,065,523 163 A 53
2.8 % H & 5,108,619 73.9 4,820,020 734 A 56
3. Bt E ijd A - - 85 00 o
4 18 A & 666,478 9.6 659,162 10.1 A1
5. 1% A & 1 0.0 2 0.0 B 128
6. 5% Iy A 12,389 0.2 10,007 02 A 192
% A & 6,913,237  100.0 6,554,799 1000 A 52
1. 4 # % 206,569 3.0 137,414 21 A 335
2. 17 B e f+ % 4951813 71.6 4,727,364 72.1 A 45
SEREREERBREXEML S 1,617,998 234 1,614,751 246 A 02
4% B T X W OH % 2 0.0 1 00 A 500
5. & e = £ % 69,022 1.0 69,666 1.1 0.9
6. & % & 37 & - - 85 00 oy
7. 8 % H & 34,823 0.5 5,508 01 A 842
8. % 1% % 10 0.0 10 00 00
O 2 & % 33,000 05 - - o
% H & 6,913,237  100.0 6554799 1000 A 52
(ER) KT ER L 75 E R B ER (Eh:FH. %)
QLB EER
- SHAEE SHIDEE
¥ EE | Bk FE%E | #HRE | dEiEk
B e EERERERBRY 838,082 73.3 839,722 72.6 02
2. 4% A % 302,187 26.4 312,511 27.1 3.4
3. 42 A % 1,000 0.1 1,000 0.1 00
4. % Iy A 2637 0.2 2,001 02 A 241
% A & £t 1,143,906 1000 1155234 1000 10
1. # # & 72,258 6.3 71,811 62 AO06
2 R EBEERLEEAMMLS 1,069,548 93.5 1,081,323 93.6 1.1
3. 5 % H % 2,000 0.2 2,000 0.2 00
4 % & % 100 00 100 00 00
% H & 1,143,906  100.0 1,155234 1000 1.0
(ERD) K FSER L 75 =R B ER (B4 FM. %)
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@ N &R
% g S4EE SHLEE
EE | #H yam | Bkt | giEs
TN & B BN 1,030,400 20.1 1,046,841 19.9 16
2 s H 4 1,166,176 228 1,196,710 227 26
3. % H & 721,313 14.1 740,903 141 27
4% HOH & % N & 1,295,325 252 1,333,164 254 29
5. Bt E i A 363 0.0 390 0.0 74
6. & A & 909,649 17.8 942,310 17.9 36
7. 4@ i & 1 0.0 1 0.0 0.0
8. % i A - - 1 0.0 e
% A & 5123227 1000 5260320 1000 27
1.4 % z 155,107 30 158,750 30 23
2 12 w8 4515941 88.2 4.658.121 88.6 31
3y B X B = % B 439,092 86 430,364 8.2 A 20
LE & B O % 363 0.0 390 0.0 74
5. 5% % & 12,624 0.2 12,595 0.2 A 02
6. % % = 100 0.0 100 0.0 0.0
% H 2 5123227  100.0 5260320 1000 27
(B B EE R (Bf7 : TH. %)
@i REEPEYE
5 5 SHAEE SHIbEE
EmE | #H >am | Bkt | ginEs
1. 4% A & 68,660 977 75.718 98 1 103
2. 5 i A 1615 23 1,444 19 A 106
% A & 70275 1000 77162 1000 98
.+ #h K B % 18 = % & 1,645 23 1474 19 A 104
I & = 68,630 97.7 75.688 98.1 10.3
% H & 70275 1000 77162 1000 98
(B BHEH R BEE (Bhr - TH. %)
@ HiESEY i
& 5 SHAEE ST E
FE%E | BRk TEmE | #ght | 8EEL
1. 4% A & 513 1000 515 1000 0.4
% A & 513 1000 515 100.0 0.4
A & E 513 1000 515 1000 0.4
% H & 513 1000 515 100.0 0.4

(BH) MBI B=EBER
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OEFEX

% g SH4EE SHOEE
¥ am | Bk ¥ E i | Rk | diek
. fE A B B & F % % 23, 975 26. 9 19, 978 230 A 16.7
2. Bt E X A 39 0.0 29 0.0 A 256
3 i A & 64, 752 72.9 66, 832 77.0 3.2
O % i) A 200 0.2 - - 3
% A & 88,966  100.0 86,839 1000 A 24
1. = = % 52365 58. 9 48 516 55.9 A 7.4
2. A 1& % 36, 601 41. 1 38, 323 44.1 4.7
% H & 88,966  100.0 86,839 1000 A 24
(BE) BEHEREG (BAL: T, %)
@FEISHRE
5 5 SHAEE SHILEE
¥ am | Bk ¥ a i | Rk | diek
L B H E O F % 40,429  100.0 45 524 100.0 12.6
2. Bt B i) A - - 10 0.0 B 4
% A & =t 40,429  100.0 45 534  100.0 12.6
1.8 = i = % & 40,429  100.0 45 534  100.0 12.6
% H =t 40,429  100.0 45 534  100.0 12.6

(BH) KBBHHMB=EIK

N
=]
EES
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3) KEBEXRFFTE (44D

@ VA HIIN (BiA)
£ 5 SHAEE SHILEE
¥ &% | @8k ¥ aE | #Em | sEiaEk
1.5 * I = 1, b91, 498 96. 2 1, 604, 493 96. 3 0.8
2. = ES ZAS X =T 62, 122 3.8 61, 860 3.7 A 0.4
I =) 5t 1, 653, 620 100. 0 1, 666, 353 100. 0 0.8
1.5 ES & A 1, 489, 915 98. 4 1, 491, 359 97.6 0.1
2. = ES 4% z A 21, 052 1.4 33, 470 2.2 59.0
3 & il Ei=] % 1, 000 0.1 1, 000 0.1 0.0
4. % fim & 2,000 0.1 2, 000 0.1 0.0
x H = 5 1,513, 967 100. 0 1,527, 829 100. 0 0.9
(BEf7 - 7M. %)
@& AN (BiA)
£ 5 SHAEE SHILEE
¥ g | #Eek yaE | #mkt | s
1. &© ¥ & 290, 000 88.7 224,000 97.1 A 22.8
2. % BA s - - 2,730 1.2 i
3. H & & 36, 900 11.3 4,000 1.7 A 89.2
IR A =) B 326, 900 100. 0 230, 730 100. 0 A 294
1. & Bid [5:'¢ B & 664, 516 79.2 528, bb8 76. 6 A 20.5
2. 1 ES & g = & 172,572 20.6 159, 703 23.1 A T75H
3. ¥ fim & 2,000 0.2 2,000 0.3 0.0
x H = 5 839, 088 100. 0 690, 261 100. 0 A 177
(BH) KENREEEE (Ef7 - 7M. %)
4) TRKESRELRHTFE (44D
@ VAN (BiA)
£ 5 SHAEE S5 E
¥ Em | #eik ¥ EE | #Emk | ek
1.8 E3 N ® 1, 705, 235 60. 9 1,721, 493 60. 4 1.0
2. & S % X = 1, 096, b87 39.1 1,129, 799 39.6 3.0
N A = 5 2,801, 822 100. 0 2, 851, 292 100. 0 1.8
1.8 E & A 2,457 158 92.9 2,519, 167 92.2 2.5
2. &5 E VA & A 186, 175 7.0 210, 096 7.7 12. 8
3 % bl 8 % 1,010 0.0 1,010 0.0 0.0
4. % fig =y 2,000 0.1 2, 000 0.1 0.0
* H = 5 2,646, 343 100. 0 2,732,273 100. 0 3.2
(BEf7 : 7/, %)
@& AN (BiR)
& q SRR S B
¥ EE | Bk FaEmE | #k | dHEn
1. 1 E & 743, 500 64. 1 697, 900 62. 8 A 6.1
2. Bf & 303, 200 26. 2 310, 900 28.0 2.5
3. b = st H & & 109, 726 9.5 95, 950 8.6 A 12.6
4. & #H & - - 3, 200 0.3 i
5 & #H & 2,233 0.2 2,233 0.2 0.0
6. K % b B f F % X A 390 0.0 260 0.0 A 33.3
N A = =t 1, 159, 049 100. 0 1,110, 443 100. 00 A 4.2
1. & % K B =y 1, 066, 313 53.3 1, 048, 444 54.1 A 1.7
2. 1 E & 18 = & 931, 821 46. 6 887, 474 45.8 A 4.8
3k %k It B & F % & 390 0.0 260 0.0 A 33.3
4 % i £ 2,000 0.1 2, 000 0.1 0.0
* i A it 2,000,524 100.0 1,938, 178 100. 0 A 31
(BH) KELhRE &g (Bl : 70, %)



2. R g
D—REEHRE
5 A
5 g SHI2EE SHIBERE
hEmE | BRk s EE | gl
1. gin) 8,266,423 21.8 8,311,941 223
2. #h il Z 5 B 260,091 0.7 264,438 0.7
3. F] + 2| % £F & 6,638 0.0 4904 0.0
4 B2 = 2| B £F o 16,097 0.0 25,156 0.1
M AEFEZFENS I XM & 19,6568 0.1 30,677 0.1
6. AN FE %X B X f % 38,283 0.1 81,359 0.2
T A B B ™ OX O & 1,548,466 4.1 1,699,257 46
8.0 I 7 FH R H %H x F & 44139 0.1 49,093 0.1
BB ERBEMEDIXNS 17,646 0.0 17,728 00
10. 75?%1,\35&%%&?1?&*]‘%5}2 & 629,623 1.7 611,031 1.6
Mt 5 & B %= & % 79,540 0.2 177,727 05
12, ih A B £F ) 5,278,279 13.9 6,208,939 16.6
WBWREBEBZE2TERFINIXMNE 10,107 0.0 11,055 0.0
445 #H £ kX U & #H % 118,250 0.3 93,981 0.3
5. A #®H kB t F #H #H 574,184 1.5 578,080 15
16. B 5:3 H o 13,373,011 35.3 9,584,874 257
17. & 53 H & 2,147,568 5.7 2,496,164 6.7
18. Bf E g A 71,297 0.2 102,941 0.3
19. & B & 1,177,330 3.1 1,867,358 5.0
20. #& A e 1,232,141 3.3 1,587,699 43
21. %2 i & 574,705 1.5 832,396 2.2
22. & g A 539,952 14 584,649 16
23. ™ i 1,886,017 5.0 2,109,576 56
% A = 5 37,909,345 100.0 37,330,923 100.0
% H
B8 SHI2EE SHIBEE
SR EE | BRE cEE | gk

1. & = E=y 180,913 0.5 179,273 05
2. %5 7% E=y 12,702,365 344 9,838,390 275
3R £ & 10,156,718 275 10,487,776 294
4. 1& e & 1,671,906 45 1,811,893 5.1
5% & E=y 17,736 0.0 17,620 0.1
6. = N 7K BE E S E=y 418,781 1.1 576,279 16
1. 78 T & 1,075,825 2.9 454,089 1.3
8. & N E=y 2,727,307 7.4 3,772,163 10.6
9.8 i E=y 205,782 0.6 242,064 0.7
10. # B E=y 1,726,624 47 2,124,803 59
11. 3% = 18 I % - - - -
12. 8 & E=y 2,356,933 6.4 2,440,846 6.8
13. B g8 E=y 3,695,608 10.0 3,743,210 105
14. % 1 % - - - -
% H = g 36,936,398 100.0 35,688,406 100.0

(B R B = I

Skl
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)RR EERE
OERRERER
- SHI2EE SHIEE
sEE | #un scEE | #Hn
1. R & B # B B 1,193,541 18.3 1,203,402 181
2.8 53 H & 4615,561 71.0 4,791,398 719
3. 18 A & 640,943 9.9 636,222 95
4 3 I A 12,555 0.2 19,148 0.3
5. B 5:3 H & 35,835 0.6 13,290 0.2
= A = B 6,498,435 100.0 6,663,460 100.0
1. % 7% & 146,828 2.2 144,883 2.2
2. 1% b e} fF & 4417529 67.9 4.650,024 71.2
SERERGRREXEEMMN S 1,646,963 25.3 1,603,711 246
4 B B X W O % 1 0.0 0 0.0
P BRELLE SR H 4 4 0.0 2 0.0
6. & # = * & 56,595 0.9 55,294 0.8
7.% % H & 75,777 1.2 36,257 06
8. A & & 34,000 0.5 33,000 0.5
08T £ E B £ % A % 129,076 20 8,338 0.1
* H = B 6,506,773 100.0 6,531,509 100.0
(BB BT B B BGE (BLL:FF, %)
O LS EER
% g SH2EE SH3EE
s E%E | #Bk B | BRk
Y B EERRRBA 775,137 74.6 786,589 743
2. & A & 245,390 23.6 249,465 23.6
3. 42 2 & 17614 1.7 20,503 19
4. F& )7} A 1,060 0.1 1,083 0.1
5. JE * H & 199 0.0 627 0.1
% A & £t 1,039,400 100.0 1,058,267 1000
1. %8 7% =y 42962 42 42594 41
2. R EHmEERLEESMMNSE 974,875 95.7 995,833 95.8
3. % H & 1,060 0.1 1,009 0.1
% H & =t 1,018,897 100.0 1,039,436 1000

(B ) a7 BB Bl 75 = A IR e
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@M ERR

£ g SHI2EE SHISEE
B | Rk B | Rk
1. & E3 153 $l 994, 138 21.0 1,007, 714 21.0
2. E % H & 1,030, 218 21. 8 1,111, 341 23.2
3. & H & 659, 438 14. 0 672, 807 14.0
4 % H E X O & 1,171,596 24. 8 1,190, 398 24. 8
5 Bf v A 74 0.0 48 0.0
6. #¢ A & 796, 110 16.9 790, 479 16.5
7. & 21 & 72, 306 1.5b 24, 911 0.5
8. & v A b2 0.0 537 0.0
54 A =) 5 4,723,932 100.0 4,798,235 100.0
1. #& by £y 159, 470 3.4 142, 214 3.0
2. & I53 el £+ E=y 4,087, 237 87.0 4,150, 446 88. 1
30 B X B T X 2 379, 393 8.1 38b, 373 8.2
4, H & & hva & 48,510 1.0 18, 677 0.4
b ## % H & 24, 411 0.5 14, 934 0.3
& H = £ 4,699, 021 100.0 4,711,644 100.0
(BHL) HAFEER AT = B B (Hh7: 7M. %)
@i KEEEESE
£ g SHI2EE SHISEE
B m | Rk B | ERk
1. % A & 61, 303 22.2 99, 425 82. 2
2. ## v A - - 21,518 17.8
O E % H & 104, 224 37.7 - -
O = 99, 500 36.0 - -
O #& 5 & 11,175 4.1 - -
O & P )7} A 66 0.0 - -
= A = g 276, 268 100.0 120,943 100.0
. X B B B £ (£ & 222, 850 80.7 58, 125 48. 1
2. N = =% 53, 418 19. 3 62, 818 1.9
53 H =) g 276, 268 100.0 120,943 100.0
(BE) #7575 =R R (Bh7: 7M. %)
O iHMEEL
5 g SFIEEE SHEE
B | s R B8 | Rk
1. #&¢ A & 36, 809 26. 4 19, 903 100. 0
oM & 102, 600 73.6 - -
= A =) E 139, 409 100.0 19,903 100.0
/N = = 36, 717 26. 3 19, 903 100. 0
Ox # H # F % % 102, 692 73.7 - -
53 H é_ g 139, 409 100.0 19,903 100.0
TEF) BEOHBETIRE (BN TH. %)

-138-



OEXREFEYIEEE

o g SH2EE SHEE
s Eg | #Bb e | Bk
1. A B B U F #H #H 156,343 679 139,159 491
2 & % H & 123 0.0 56 0.0
3. Bt 3 I A 13 0.0 6 0.0
4 % A & 42,341 18.4 121,890 43.0
5. v A 31,566 13.7 8,182 29
6. ™ & - - 14,000 50
= A = 5 230,386 100.0 283,293 100.0
1. E ¥ M |8 F X # 157,455 68.3 170,050 60.0
2. & =y 72,931 31.7 113,243 40.0
= H = 5 230,386 100.0 283,293 100.0
(BE) BEMHBEE MR (Bf7 . TH. %)
(P dE 5
5 g SH2EE SHEE
ShEg | #Bn e | Bk
1. A B B U F #H #H 16,683 39.3 17,440 26.3
2 Bt B i A 11 0.0 6 0.0
3. #& A & 25,734 60.7 48,941 73.7
% A & g 42428 100.0 66,387 100.0
1.8 = E =y 40,733 96.0 38,626 58.0
2. 15 -y 1,695 4.0 27.861 42.0
% H & B 42428 100.0 66.387 100.0
(BH) MRIEERE =R E (B : FH., %)
[(JdR e
5 g ST EE SHEE
SR B %8 | #mk R B | #Bak
1.5 B # kX v F & # 35,037 96.4 39,742 999
2. 5% v A - - 20 0.1
O & A & 1,319 3.6 - -
% A & = 36,356 100.0 39.762 100.0
1. Bt =) 5 = - & 28,701 78.9 28,008 96.2
2. iy -y 7,655 211 1,101 38
4 H é_ £ 36,356 100.0 29,109 100.0

(BH) B B=EBER
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3) MAME

(REEFRE)

- : : N BMES |ME- & bR
& & + () 2y (M | & EFD | £ &FM) il )
304 4,661, 050. 16 255, 428. 57 71,760 4,700, 655 386, 100 1, 739, b39
ST 4,729, 191. 61 254, 169. 09 66, 380 4,789, 467 386, 100 1, 739, b39
2 4,805, 150. 28 257,909. 47 6, 160 b, 561, 162 382,100 1,682, 839
3 4,799, 814. 39 256, 983. 64 126, 200 6, 450, 754 382,100 1,682, 839
4 4 725, 694. 94 257, 281. 67 121, 160 7,528, 275 382, 100 1,682, 839

(BH) BMBEBUMBEEY - LR
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4) KEFEERFHRE

@ UVAE I T (Fi51)
5 g S SHIBEE
sEm | Eek ShoE %5 Bt | sEiEw
1.2 * )7} = 1,641,162 96.0 1,619,029 95.9 A 13
2.5 ES 4% IR =® 68,731 40 68,564 4.1 A 0.3
3 % al # % 8 0.0 53 0.0 S 428
g =) £t 1,709,891 100.0 1,687,636 100.0 A 1.3
1.5 E & A 1,451,522 97.7 1,476,865 97.9 1.7
2.8 %2 5 B A 33,217 2.2 30,290 20 A 88
3 % il 18 % 598 0.0 1,273 0.1 plers]
% H = g 1,485,337 100.0 1,508,427 100.0 1.6
(HEh: FH. %)
[ 2N (Bi51)
5 5 S SHISEE
s Em | Esk Sh & %5 Bt | sEiER
1. 1 E & 147,000 914 178,900 88.6 21.7
2. 14 Bf & - - 9,080 45 =i
3. H & & 13,900 8.6 13,900 6.9 0.0
IR A =) 5 160,900 100.0 201,880 100.0 255
1. & Bid [5i¢ B =y 637,085 80.2 617,938 78.2 A 3.0
2% X B E F £ 157,556 19.8 172,628 218 9.6
% H = g 794,641 100.0 790,567 100.0 A 05
(BR) KEEHREEEE (B TH. %)
5) FAEBEXSHRE
@ ULE I (Bi5A)
& g SHI2EE SHISEE
S EE | EEk SR E 5 Bk | arEl
1.8 ¥ )7y ix 1,731,500 62.9 1,711,592 61.1 A 11
2. = - 2 )7y 1% 1,022,830 371 1,045,706 37.3 2.2
3. % il F = 558 0.0 43,027 1.5 S
N A =) =t 2,754,887 100.0 2,800,326 100.0 1.6
1.8 = A 2,296,727 919 2,315,497 915 0.8
2. = - 2 & A 203,328 8.1 213,350 8.4 49
3. % il 18 % 298 0.0 h74 0.0 92.6
53 H = 5 2,500,353 100.0 2.529,421 100.0 1.2
(HEhr: FM. %)
@ E AW GEPN)
A 5 SR SIS
rEmE | Bl SR E % Bt | MREIAELH
1. & ES & 878,600 57.2 573,500 66.3 A 347
2. 18 Bf & 547,193 35.6 176,850 20.5 A 67.7
3. b = it H & & 109,634 7.1 112,216 13.0 24
4. & #H & - - 606 0.1 51
5 4 #H & 635 0.0 1,299 0.2 S
6.7k ¥ 1t B ff = £ W A 22 0.0 - - =25
X A & it 1535984  100.0 864,472 100.0 A 43.7
1. % Bid [5:'¢ B =y 1,492,926 60.6 794,538 455 A 46.8
2. 14 - & 18 = & 968,926 394 950,638 4.5 A 19
3K %k b B & = % & 22 0.0 - - e
* £t 2,461,875 100.0 1,745176 100.0 A 29.1

-141-
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3.F W &
1) Zlch - EFEABEEH

(BEER)
BA (#) EA - HE ()
F K &8 (M)
Gil%) GikA B2 GikA
294 13 16,018 11 4 216, 224, 122
30 9 26,189 11 6 341, 230, 800
THTE 1 41,445 9 4 784, 953, 200
2 16 52,948 13 6 1, 175, 749, 800
3 8 87, 803 16 7 1, 854, 212, 460

(BH) MBHVMBEMER LEREIPLER
E) FHBFELY 52 S MBI 2 RILAREERRA

2) FHEOER

(HHSEES)
FWE DFER H8 (4 &% (F)
o 87,834 1, 854, 212, 460

FECHESE(FECESET) 18,
KEBETEDEL DI YEE(Fb I YHHERSTET) , 559 76, 503, 000
FOE - EIRBEE (FVF - UEIREESTET) , 042 23,136, 000

164 400, 167, 000

8
3
1
1
AR—VIREEZE (R R—VIREESTET) 1,835 43, 210, 000
3
4
8

BEFREAFERIMNEE BFIREAFEREESHET) , 544 34, 469, 000
oI ERE (SR EERHEERESTET) , 020 65, 980, 000
EEREEX (BEXRREESET) , 185 104, 134, 000
eEHTREIEET T 7EE , 987 209, 673, 000
FUIOFTHRIL I 7 LANERASRITEE 1 1, 000, 000
FAO O HRNREEEEETEREIEEINEE 1 100, 000
WA OO S MRFEEEE 1 30, 000
mRIZEEME 44, 905 895, 810, 460

(BH) MBHMBEMHER CEREHEER

3) FELOREFBEXZDFMW

(BEED)
BA () BN HE ()
F K &% (M)
Gl GiEA Gl GikA
294 1 - 8 - 660, 000
30 1 1 10 - 1, 349, 400
THTE 1 - 10 - 890, 000
2 1 - 8 - 1, 380, 000
3 1 - 9 - 846, 000

(BH) MFBERM =M BER

—142-



